Exit Ticket J6 - Working withy = mx + ¢

Correct Answer: ABCD

Explanation:
One of these graphsis a sketchof y=1-2x
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Correct Answer: ABCD
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Explanation:
Which of these is the gradient of the line 2y =6x + 1 ?
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Correct Answer: ABCD

Three of the following statements are true and one is false. Which one is false? Explanat|on :
A The line y + 3x = 5 has a gradient of 3.
B The line y + 4x = 0 passes through the origin.

€ The line 2y +x = 6 has a y-intercept of 3.

D The lines y=xand y = x + 1 are parallel.
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